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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

Tl FEgH 370 U9 U9 W AT 37 AaEd: od |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

|Ht T% & A AT £

All the questions are compulsory.

Seeh W9 ST SR Al e STR-YRAH H & o |

Write the answer to each question in the given answer-book only.
S AT | 3T Yo @UE €, 37 Tl o IR UFH W & o |

For questions having more than one part the answers to those parts
are to be written together in continuity.

T U Bl J ST TR B Al YHR B I / SRR/ SRETI™E g
W Y AT & W9 S TE T |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

SS—41—Chem. (Supp.) [ Turn over



6. WY EEAT 3 U T

1-13 1

14-24 2
25-27 3
28-30 4

Q. Nos. Marks per question

1-13 1

14-24 2

25-27 3

28-30 4

7. U9 ShHI% 21, 27, 28, 29 T 30 H M {& dheq €|
Question Nos. 21, 27, 28, 29 and 30 have internal choices.

1. FS I AE UK § SR 0T BT €| ST T FROT § 2

Some chemical substances show paramagnetic property. What is the

reason ? 1

2. - T p-UFR F FFACAS S & AR H FHEL: HH-Y dcd T & 2

What elements are added respectively to make silicon n-type and

p-type semiconductors ? 1
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3. Thohel IT AgCl SHETAl o HFed i T IaTdd T el et ?

Why does Frenkel defect not change the density of AgCl crystals ? 1

4. TH T@ % 500 ml § 4 g NaOH & | THeh! HioRdT Il i 57T |

500 ml of a solution contains 4 g NaOH. Calculate its molarity. 1

5. 3TUHAT A BH JATHAT R M &l S € ST A Sl Figel i IR AT

T ST €| T 37 3T i i € FaTeU |

In reaction, A — B rate of reaction is doubled when concentration of A

is increased four times. Give the order of reaction. 1

+

H
6. argmar C12H22011 + HyO — CgH 1506 + CeHi1206

T8T-IThT TR RIS

T AT ST A G|
Write the rate expression for the reaction

H+
Ci1oH2201; + HyO — CcH 5,06 + CgH;20¢ 1

Cane sugar Glucose Fructose
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7. 5 (2 =30 ) I THAU q F&l AT T & | HROT T

Zinc ( Z = 30) is not regarded as a transition element. Give reason. 1

8. [Co(en),]* H S Y
a)  Co i SRAIHIUT 3TawT

b)  Co o TH=T T |

Determine in [Co(en), ] 3+
a) oxidation state of Co
b) coordination number of Co. Yo+ Y2

9. ook TUT Mo H A U FA & TAH DHA-H WHA A HT TG
FAE 2

For electroplating of silver and gold which of their complex ions are

used ? Yo+ Yo

10. TUHS o WO o 995 HH HAT 2 WA od |

How will you distinguish between propanal and propanone ? Write the

test. 1
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11.

12.

13.

14.

5

SISUST[hIUT 3T 9 ohdT hl _\q":ﬁw Zﬁml
Give the equation of diazotisation reaction. 1
T qAT SIS THHT 3Tl § 7 SR & 2

What is the difference between essential and non-essential amino

acids ? 1

ORI % 3] § — CHO WY &l SURT T AEd A &q T T HA T QU

Give reaction to confirm the presence of —CHO group in glucose

molecule. 1

a) YE ToTEE U Uk ToH o AT I TF A9 o T 3ol Wi |

SHUYT: U o5kl & o JHEY |

b) TERM ST H AeEd @ W TR HIIEHN THE STt &1 BRI
G
a) Draw the diagram of the curves obtained by plotting a graph

between vapour pressure and temperature of pure solvent and a

solution, respectively.

b) Blood cells collapse when suspended in saline water. Give

reason. 1+1
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15.

16.

17.

18.

6
H, @1 O, S STANT A aTeil 289 Hel 1 e Td A b o7 a0 | 394

SAFLIS 3T T SHATST & FHIHIUT o G | S el o Ush ITUANT off 35T |

Draw labelled diagram of fuel cell using H, and O,. Write the equations

of electrode reactions. Also give one use of the fuel cell. 1+%+ %

Na,SO, % @ An & TUFT HIST T8 ANa® =50-1S cm2mol™! &

isof;:mo-o Scm?mol™! €1 THH WIH TIT HY TIAE A T |

Calculate Am for Na,SO, if ANa®=50-1Scm?mol” and

A SO 421_2 160-0 S cm? mol™'. Define the law used for it. 1+1

ST F A HAT ARk o T A Hl T TR G 60 SHoll W ISR

& TS i GHSU |

Draw diagram of curve between energy and reaction coordinate and

explain the effect of catalyst on activation energy. 1+1

fSTer 3TferaTee § f5Teh & TohN0T @t 9 T@U| TEH B areil 37 Y HAT hl

FHHIOT Tt AT |

Write the method of extraction of zinc from zinc oxide. Give equation of

reaction that takes place in it. 1+1
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19.

20.

21.

7

a) T AET T T & Sa s Ti** 3ae TRIA | $RoT 519U |
b) OIS YpEd T ?

a) Ti*"ion is coloured while Ti*"ion is colourless. Give reason.

b) What is lanthanoid contraction ? 1+1

T A @ GpeA Il TR % 1L.U.P.A.C. ATH J T
a) K,[Zn(OH),]
b)  [Co(NH,),(H,0)CI|Cl,.

Give [.U.P.A.C. names of the following complex compounds : 1+1

a) Kz[Zn(OH)4]

b)  [Co(NH,),(H,0)CI|CL,.

2-FHERT H ST NaOH ddT UeshlEl el NaOH & I I T
3 Y SHATSAT o THIHIOT S 9W | Tedeh 37 9 3HaAT T YR 9 Iy |

AT

T Uoohialcl o At ohl 37 9 ShAT hl THIHUT QU | THH! AT 94 &

RERSEEIERY
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22.

23.

24.

8
Give the equations of chemical reactions of 2-Bromobutane with

aq. NaOH and alc. NaOH. Write the type of each reaction. 4 x Y

OR

Give the equation of dehydration of ethyl alcohol. Explain the steps of

its mechanism. Yo+ 1Y%

JauT FoTh Ufodhol goleel B Sy2 A MHAT T o TAmd & are que

Bl ¥ | Ueh IS0 §RT GHEE |

In optically active alkyl halides, Sy2 reaction is completed with

inversion. Explain by an example. 1+1

C,H,,0 3G alct IR UehlErell o TU[3Tl & WAl ¥ d LU.P.A.C. TH

T

Write structural formulae and I[.U.P.A.C. names of four alcohol

molecules having molecular formula C,H,,0. 1+1

a) RG] bl ST W T I aTel &1 37 9 hamd <F |

b) T TG SR GYGIIUT 37 o7 ST ST HHIIOT §f 57U |

a) Give two reactions that show the acidic nature of phenol.

b) Write the equation of Williamson ether synthesis. 1+1
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25. a)

b)

b)

26. a)

b)

b)

9

(CH,),N ! &Rl CH,NH, ¥ %H & | THeNsT |

CHSCONHzﬁ LiA1H4H94T\T-l?fT15r AT HIH T AR X ST & 59
CHCL, @1 alc. KOH® W1 T & R FEwd ATH Y A |

XTI Y ® T 9 LU.P.A.C. 99 ST
Basicity of (CH,),N is less than CH,NH, . Explain.

CH,CONH, gives a compound X on reaction with LiAlH 4 and

water, which gives a foul smelling compound Y on heating with

CHCl3 and alc. KOH. Give formulae and I.U.P.A.C. names of

Xand Y. 1+ +Y%+%B+1Y

dT g a7 dlUeg Sgoishl B Ol R € 2 Shelige, Ui i,
T SIS, J T HIHeSRIES X 59 i 3 a7t | aFfighd hi 514 |

ATEA-6, 6 S I 3T 9 AT HT FHIHIOT W |

What is the difference between thermoplastic and thermosetting
polymers ? Classify bakelite, polythene, polystyrene, urea

formaldehyde resins in these groups.

Give equation of reaction for preparation of Nylon-6, 6. 2+1
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27. a) YR qUT IHHHE H T AR & 2 T HT Tk 3IEI0T S ST

b)  FIA TE HY Fed ¢ ? TR SN AYHE VT G F HA

ST E ?
areran

TP A T I 3O} T HA ¥ B T U 7MW 3 o7 § i 97T ¢

A ™ B
U T T T T
EERKGE] T AT AT
T TS & ENIGED
ART ATZH STt
ERgR) SOt
AT TEERT |
a) What is the difference between antiseptics and disinfectants ?

Give one example of each.

b) What are artificial sweetening agents ? Why are these used by
diabetic persons ? 1%+ 1%

OR
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Match the drugs given in Column A with their class given in

Column B: 6 x %
Column A Column B
Aspirin Antihistamine
Penicillin Anti-fertility drug
Erythromycin Tranquilizers
Norethindrone Bactericidal
Valium Bacteriostatic
Terfenadine Analgesic.

28. a)  WITH SFUTTUT qAT IHIAEH FUVNOOT H F FR AET| UIH
3T Y97 T ek S3TEX0T &f 57U |

Fe(s)

N 3H
b) Faskhar Ny (g) + Q(g)Mo(s

2NH;3 (g) ® Mo (s ) &l

SYFRT Fe (s ) % 9 F7 HIT T E 2 TH ST I T FEd © 7

o R Y Fa8UF H AW HA 9T TR0
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b)

b)

b)

12
TERT Ud 59 SREN Hleies H & 3R A G| Y& HAES H Tk

SRTEIT ST

A 3TIET T AT Bl oT FRT TSI i 5T

AT Y TN SHAT I GHAET |

Write two  differences  between = physiosorption and

chemisorption. Give one example of each type.

Fe(s)

In reaction, Ny (g)+3Hy(g)
2 2 Mo (s)

2NH3 (g) , why

Mo ( s ) is used with catalyst Fe ( s ) ? What name is given to

such compounds ?
Draw a labelled diagram of Cottrell smoke precipitator.
OR

Write two differences between lyophilic and lyophobic colloids.

Give one example of each colloid.
Draw labelled diagram to exhibit electrodialysis.

Explain cleansing action of soaps. (+2t+te+ )+ 1+1
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29. a)

b)

b)

13

T 15 % dcal o TASThAT HIY THRAET TG H 7T T Iedl

T BT § 2 TR
TH I AT A T 3 X, ST 3R § I e ¥, b ¢S, H
For | O %ol 9T 91 B gEM W W o 3l § F o gH

YIAT &1 X T Y o UGS 3 ST qAT 37 97 5T hT FHIHIOT off S0
H,SO, @1 H,S0, % T &1 57T |
Jrerar

a7 18 % cal i ISP T FAT Fed & 2

H,SO, % 3tUR & TLE YT & o1 =R H g aTelt 37 9 shamell &
THYeRTOT & |

XeF, T XeF, i WA SHLT |
Why the valency shell electronic configuration of 15th group

elements has additional stability ? Explain.

A poisonous white waxy non-metallic solid X, glows in dark.

When dissolved in CS,, a filter paper dipped in it, catches fire in

air on drying and forms dense white fumes of Y. Give the

molecular formulae of X and Y and equation of the reaction.

Give structures of H,SO3 and H,SO,.

OR
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30. a)

b)

b)

14

Why are the elements of group 18 known as noble gases ?
Give the equations of the reactions that take place in three

steps of H,SO, production by contact process.

Draw structures of XeF, and XeF,. 1+2+1

TAAET ATHART T A, B, Cd D Hl Tga1T :

) H\ _ . A

i) 2H/C—O+“vTIT;{KOH —> A+B

.. NaOH

ii) 2CH;— CHO i c 2> p
—H,0

ASTUE 37U Sl GHIGHIUT §RT THETEN |

-8 & THEAT T ST HelelT Tera S & T ST & 2
JrerE
TAAET A9YHART H A, B, Cd Dl Jgar- :

H* a1 OH™ H* a1 OH
> A » B
H,0 A

i) CH; — CN

i)  CgHsCOOCOCH;, B0, b
TA-TRICATS-SITTGEhT 37 9 ST GHISHUT ST TS |
R-COOH & FaeMHish ¥Hed IR dlct Ueehlerell & off 3= &t ¢ |

FHROT ST
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b)

a)

b)

15
Identify A, B, C and D in the following reactions :

. H_ A

i) QH/C=O+Conc.KOH—>A+B

. dil. NaOH A

ii) 2CH; — CHO C—— D
— H,0

Explain Rosenmund reaction giving equation.
Which two chemicals are used for preparing Fehling solution ?
OR

Identify A, B, C and D in the following reactions :

H" or OH_‘ A H" or OH™
H,O0 A

i) CH; — CN

. H
i)  CgHsCOOCOCH; _HO C+D

Explain Hell-Volhard-Zelinsky reaction giving equations.

R-COOH has higher boiling point than that of alcohols having

same molecular mass. Give reason. (+t++%)+1+1
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